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1. Select the related word/letters/
number from the given alternatives.
Cause : effect :: Crime : ?

A. Punishment B. Criminal
C. Justice D. Unfair
Ans. A.

Sol.

As cause is related to effect, similarly
punishment is related to crime or we can
Say that punishment is effect of crime.
2. Select the related word/letters/
number from the given alternatives.

Act : Action :: Clear : ?

A. Clarity B. Clean
C. Clearly D. Cleans
Ans. A.

Sol. Since act is a verb and action is
noun, similarly clarity is noun of word
clear.

3. Select the related word/letters/
number from the given alternatives.
Sitting : Duck :: ?

A. Happy : Laugh B. Feeling : Blue
C. Running : Shoes D. Bird : Egg
Ans. B.

Sol.
Sitting Duck = Feeling : Blue
7 : 4 ] 7 : 4

There is difference of letters.

4. Select the related word/letters/
number from the given alternatives.
MJOL : QNSP :: NKPM : ?

A. ROTQ B. PMQN

C. LONQ D. URWT

Ans. A.

Sol. M+4=Q, J+4= N, O+4=S5, L+4 =P
Similarly

N+4 = R, K+4= 0O, P+4=T, M+4 = Q
5. Select the related word/letters/
number from the given alternatives.
Male : Lamella :: Dare : ?

A. Redder B. Rare

C. Reader D. Dreaded
Ans. D.

Sol.

Since lamella is a seven letter word
made by using the letters of the word
male. Similarly Dreaded is a 7 letter
word made by using the letters of the
word dare.

6. Select the related word/letters/
number from the given alternatives.
Globes : Bestow :: Dared : ?

A. Redden B. Redox

C. Best D. Beset

Ans. B.
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Sol. The next word is made by using the
last three letters of the previous word.
GloBES —BEStow

7. Select the related word/letters/
number from the given alternatives.
91:8::82:7

A.7 B.
C.9 D.
Ans. B.

Sol.

9 =148

Similarly

8 =2+6.

8. Select the related word/letters/
number from the given alternatives.
123 :134 :: 100 : >

A. 111 B. 101

C. 110 D. 1000

Ans. A.

Sol.

123 +11 =134

Similarly

100 + 11 =111.

9. Select the related word/letters/
number from the given alternatives.
715 :198 :: 431 :7?

6
5

A. 107 B. 644

C. 367 D. 297

Ans. D.

Sol.

715 : 198 :: 431 : 297

F+1-35 1+9-8 4+3-1 2+9-7
=3 =2 =6 =4

al ] ]

Option D is the appropriate answer.

10. Select the odd word/letters/
number/word pair/number pair from the
given alternatives.

A. Pants B. Coat

C. Shirt D. Sweater
Ans. A,

Sol.

Expect option A, all others are upper
wear.

11. Select the odd word/letters/
number/word pair/number pair from the
given alternatives.

A. Birds and Bees

B. Cat and Mouse

C. Boys and Girls

D. Frogs and Toads

Ans. C.

Sol.
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In option C BOYS is the Masculine form
of GIRLS.

There is no other option that follow
above pattern.

12. Select the odd word/letters/
number/word pair/number pair from the
given alternatives.

A. Aeroplane and Helicopter

B. Car and Aeroplane

C. Helicopter and Bus

D. Scooter and Aeroplane

Ans. A.

Sol. Aeroplane and helicopter both are
medium of air travel. while others are
different from these.

13. Select the odd word/letters/
number/word pair/number pair from the
given alternatives.

A. CA B. BD
C. VX D. TV
Ans. A.

Sol.

A comes before C while in others option
the second letter comes after first letter.
14. Select the odd word/letters/
number/word pair/number pair from the
given alternatives.

A. Displace B. Display
C. Splash D. Splurge
Ans. D.

Sol. In Option A,B and C the common
letter is PLA, while in Option D it is PLU
In the word splurge.

15. Select the odd word/letters/
number/word pair/number pair from the
given alternatives.

A. PTLS B. TOFL
C. TOFL D. TDFL
Ans. A.

Sol. Expect option A all others are
starting from T.

16. Select the odd word/letters/
number/word pair/number pair from the
given alternatives.

A. 123 B. 234
C. 890 D. 567
Ans. C.

Sol.

14243 =6

2+3+4 =9

5+6+7 =18

8+9+0= 17

So the addition of the digit is a prime no.

In option C while others are not
following this pattern.

P

gradeup

17. Select the odd word/letters/
number/word pair/number pair from the
given alternatives.

A. 46 B. 57

5-1=

So the subtraction of digits in all other
option is 2 while in option C it is 4.

18. Select the odd word/letters/
number/word pair/number pair from the
given alternatives.

A. 16, 146 B. 15, 135
C.19,171 D. 14, 126
Ans. D.

Sol.

15*%9=135

19*%9 = 171

14 * 9= 126

16*9= 144

Option A is different from other option
because the second no. is not the 9
times of first number.

19. In the given series one word/one
term/one number is missing. Select the
correct alternative from the given ones
that will complete the series.

AFtredA, BsRgthB, SvbTbnS, TwseFaT, ?

A. LertfL B. UtaDsdU
C. LesdrAL D. AVfdreA
Ans. C.

Sol. Capital letter is shifting its position
to left by 1 except starting and last
letters;

Only option C fit in the series as the next
word.

20. In the given series one word/one
term/one number is missing. Select the
correct alternative from the given ones
that will complete the series.

Raindrop, Operate, Teakwood,
Odometer, ?

A. Erasers B. Laser
C. Odour D. Sour
Ans. A,

Sol.

RaindrOP= OPerate,

operaTE =TEakwood,

teakwoOD =0ODometer,

Similarly,

OdometER,= Erasers.

21. In the given series one word/one
term/one number is missing. Select the
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correct alternative from the given ones
that will complete the series.
kid, gnaw, cited, sphinx, ?

A. thumbing B. spartan
C. reclines D. cohort
Ans. B.

Sol. letter count is increasing by 1 in
every next word, like
kid, gnaw, cited, sphinx,

3 4 3 B

Similarly SPARTAN follow the pattern. It
has 6 letters.

22. In the given series one word/one
term/one number is missing. Select the
correct alternative from the given ones
that will complete the series.

VI TI Q/ M/ ?

A. H B. I

C.J D. K

Ans. A.

Sol.

V-2 = T-3 — Q-4 - M—-5 — H.
23. ct the correct alternative from the
given ones that will complete the series.
lij, mjk, nkl, olm, ?

A. pmn B. png
C. gpn D. gsr
Ans. A.

Sol.

L | j

+1 +1 +1
M j k
+1 +1 +1
N k I
+1 +1 +1
0 | m,
Similarly,

+1 +1 +1

P m n.

24. In the given series one word/one
term/one number is missing. Select the
correct alternative from the given ones
that will complete the series.
XXOOXXX, XOXOXXX, XOOXXXX,

OXOXXXX, ?

A. OXXOXXX B. OOXXXXX
C. XXOOXXX D. XOXOXXX
Ans. B.
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Sol. letters O,0 are shifting their position
to left one by one gradually. Like
XXOOXXX, XOXOXXX, XOOXXXX,
OXOXXXX, OOXXXXX.

25. In the given series one word/one
term/one number is missing. Select the
correct alternative from the given ones
that will complete the series.
-9,-2,7?,15, 25

A.0 B. 4
C.6 D.8
Ans. C.

Sol.

Q+7=-2, -2+8=6,
b+9=15, 15+10 = 25,

26. In the given series one word/one
term/one number is missing. Select the
correct alternative from the given ones
that will complete the series.
3,5/3,1/3,7?,-7/3

A. -2 B. -1
C.0 D. -1/3
Ans. B.

Sol. there is a difference of 4/3 in the
very couples.

3-4/3=5/3,5/3-4/3 =1/3,
1/3-4/3 = -1.

27. In the given series one word/one
term/one number is missing. Select the
correct alternative from the given ones
that will complete the series.

31, 7,41, 43,47

A. 33 B. 37

C. 35 D. 39

Ans. B.

Sol.

31+6 = 37,

37 + 4 =41,

41 + 2 = 43.

28. If e < f, i > e and f < g, which of the
following must be true?

I.f<i

II.g>e

A. Neither I nor II  B. Only II

C.Only I D. Both I and II
Ans. B.

Sol.

Sincee<f<gandex<i

There is no relation for f & i

Therefore, only II is true.

29. The weights of five boxes are 30, 40,
40, 70 & 90 kilograms. Which of the
following cannot be the total weight, in
kilograms, of any combination of these
boxes?
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A. 210 B. 180
C. 190 D. 200
Ans. A.

Sol.

180 = 30 + 40 + 40+ 70

190 = 30+ 70+ 90

200 =30 + 40 + 40 + 90

But we cannot get 210 by adding given
weights.

30. If the letters D, V, E, A, I & T are
numbered 1, 2, 3, 4, 5 & 6 respectively.
Select that combination of humbers so
that letters arranged accordingly, form a
meaningful word

A. 6421353 B. 3442156
C. 3125624 D. 1325463
Ans. D.

Sol.

DEVIATE = 1325463.
31. If DEMIGODS is coded as GHPLIRGV,
then how will RUN be coded as?

A. UIM B. MJU

C. IOP D. UXQ

Ans. D.

Sol.

D E M | G 0 D S

+3 +3 +3 +3 +3 +3 +3 +3

G H P L J R G Vi
Similarly,
R u N

+3 +3 +3

u X Q.

32. In a certain code language, 315
means 'play is fun', 324 means 'game is
nice', 614 means 'fun and nice'. Find the
code for 'and'.

A. 6 B.7

C.9 D. 4

Ans. A.

Sol.

315 means 'play is fun’,

324 means 'game is nice',

614 means 'fun and nice’

= is = 3, nice = 4, fun =1,

And = 6.
33. In a certain code language, '+'
represents 'x', '-' represents '+', 'X'

represents '+' and '+' represents '-'.
Find out the answer to the following

question.
0.025 + 200-345x15="7
A. -18 B. 21

C. 28 D. 2
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Ans. C.

Sol.

0.02500200 + 345 + 15=5+ 23

= 28.

34. If A % B means A is father of B, A &
B means A is brotherof Band A $ B
means A is son of B, then what does I $
G % H & K mean, if K is male?

A. Iis son of K

B. I is father of K

C. Iis grandson of G

D. I is brother of K

Ans. D.

Sol.

I1$G=1Iisson of G,

G % H = G is father of H,

H & K = H is brother of K

Therefore,

I1$G%H&K =1is brother of K.
35. If 84%42 = 6, 71%51 = 10 then
find the value of 83%41 =7

A. 8 B.5
C.7 D.9
Ans. A,

Sol.

84%42 = (8 + 4) - (4+2) =6,

71%51 =(7+5)-(1+1)=10
Similarly,

83%41 = (84+44) - (3 + 1) =8.

36. Which of the following words follows
the trend of the given list?

Ulcer, Lunar, Cough, Casual, Avenue, ?

A. Slumber B. Absolute
C. Crude D. Utopia
Ans. B.

Sol.

The letter U is shifting its position to
right by 1; like
Ulcer, Lunar, Cough, Casual, Avenue

1Et znd Srd 4th Sth
Therefore,
There is option B ABSOLUTE in which
letter U is at 6% position.
37. wing terms follows the trend of the

given list?

VNN, VNNV, VNNVV, ?

A. VVNNVV B. VNNVVV
C. VNVNVN D. VNNVNV
Ans. B.

Sol.

In the series there is an increase of
letter V in every next word.

VNN, VNNV, VNNVV, VNNVVV

So, VNNVVV is the next word.
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38. A wolf is chasing a deer. The wolf
runs 5 km East, then turns South and
runs 9 km, then turns West and runs 5
km, then it turns to its right and runs 3
km.

Where is it now with reference to its
starting position?

A. 12 km South from the starting
position

B. 6 km North from the starting position
C. 6 km South from the starting position
D. 12 km North from the starting

position
Ans. C,
Sol.
start  Skm
Bkm akm
en
Bkm < ¥
Skm

6 km South from the starting position.
39. Two A and B girls start from the
same point. A walks 9 m North, then
turns to her right and walks 5 m. At the
same time, B Walks 11 m East, the turns
to his left and walks 9 m. Where is B
now with respect to the position of A?
A. B is 6 m to the East of A

B. Bis 16 m to the East of A

C.Bis 6 m to the West of A

D. Bis 12 m to the West of A

Ans. A.
Sol.
5m A 6m B
-~
9m Sm
start TIm >

B is 6 m to the East of A.

40. In the question two statements are
given, followed by two conclusions, I and
I1. You have to consider the statements
to be true even if it seems to be at
variance from commonly known facts.
You have to decide which of the given
conclusions, if any, follows from the
given statements.

Statement 1 : No wood is bamboo.
Statement 2 : No bamboo is strong.
Conclusion I : No wood is strong.
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Conclusion II : All strong things are
wood.

A. Only conclusion I follows

B. Only conclusion II follows

C. Neither I nor II follows

D. Either I nor II follows

Ans. C.

Sol.

oe

Neither I nor II follows.

41. In the question a statement is given,
followed by two arguments, I and II. You
have to consider the statement to be
true even if it seems to be at variance
from commonly known facts. You have
to decide which of the given arguments,
if any, is a strong argument.

Statement : Should high tax rates be
imposed on businesses?

Argument I : No, High taxes discourage
investments, thus reducing jobs and
development.

Argument II : Yes, Some businesses use
clever accounting to save tax, so higher
taxes will be a good counter measure.

A. if only argument II is strong.

B. if neither argument I nor II is strong
C. if only argument I is strong.

D. If both argument I and II are strong
Ans. C.

Sol.

High tax rates should not be imposed on
businesses;

It will lead to discourage investments,
thus reducing jobs and development and
if some business use clever techniques
they still can use whether taxes are high
or low.

Therefore,

Only argument I is strong.

42. Which of the following cube in the
answer figure cannot be made based on
the unfolded cube in the question figure?

o|v

A
A
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AO|V

The opposite faces are as follows

=[O
ocgi\(

VAN 1= AV4
In a dice opposite faces cannot be side
by side

In option C

W A ¢

and

cannot be side by side.

43. Which of the following answer figure
patterns can be combined to make the
question figure?

Ll L]

[ 1]

P
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Option D is the appropriate answer.

44. Which of the following diagrams
represent the relationship between Men,
Indians and Writers?

A. B

C. .~ D, A M
Ans. A,

Sol.

Some Indian men may be writer,

Other countries men may be writers too,
Writer includes men as well as women.
Therefore,

Option A is the appropriate answer.

45. In the following figure, square
represents directors, triangle represents
actors, circle represents singers and
rectangle represents producers. Which
set of letters represents producers who
are also directors and singers who are
not actors?

*/\

1/ s
e /w R
A.T,Sand P B.Q, W, XandP
C.Q, WandP D.T,S,Xand P
Ans. D.

Sol.

Producers who are also directors = T & S
Singers who are not actors = X and P
Option D is the appropriate answer.

46. Which answer figure will complete
the pattern in the question figure?
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Ans. A.
Sol.

Option A is the appropriate answer.
47. From the given answer figures,
select the one in which the question
figure is hidden/embedded

]

c. AT D.
Ans. D.
Sol

Option D is the appropriate answer.

48. A piece of paper is folded and
punched as shown below in the question
figures. From the given answer figures,
indicate how it will appear when opened.

A. B
c. | D
Ans. A.

Sol

Option A is the appropriate answer.

49, If a mirror is placed on the line MN,
then which of the answer figures is the
right image of the given figure?

e
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A. B
C. ! D. ——
Ans. B.
Sol.
W

A

Option B is the appropriate answer.

50. A word is represented by only one
set of humbers as given in any one of
the alternatives. The sets of numbers
given in the alternatives are represented
by two classes of alphabets as shown in
the given two matrices. The columns
and rows of Matrix-I are numbered from
0 to 4 and that of Matrix-II are
numbered from 5 to 9. a letter from
these matrices can be represented first
by its row and next by its column, for
example ‘X’ can be represented by 30,
41 etc and ‘G’ can be represented by 55,
87 etc. Similarly, you have to identify
the set for the word "RUGBY”".

MATRIX - | MATRIX -1l
HG - | g -
1 2 3 a S [ 7 ] 9
0 Q N S X 0 S G A F L3 8
1 wlala P N 6 J o(D|C A
2 hd R o W U 7 L E B J H
3 X o T N T 8 K B|G|AI|G
4 P X viala 9 c K| H D|D
A. 01,34,22,10,75

B. 40,31,41,68,01
C. 21,24,89,77,20
D. 23,95,14,20,79

Ans. C.
Sol.

R =21
U=42, 24
G =55, 89
B =77

Y =20
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RUGBY = 21, 24, 89, 77, 20.

1. The Victoria Memorial in Kolkata is
constructed with which of the following
materials?

A. Red Sandstone

B. Grey Granite

C. Slate from Rajasthan

D. White Makrana Marble

Ans. D.

Sol. The Victoria Memorial, a huge
monument made of white marble located
in the heart of the City of Joy, Kolkata
(erstwhile Calcutta) in West Bengal,
India is one of the most famous
monuments in West Bengal that has
become a museum and popular tourist
spot of the state. The Victoria Memorial
in Kolkata is constructed with White
Makrana Marble.

2. Who among the following was a
classical Indian violin player?

A. Bismillah Khan

B. V.G.Jog

C. Shafaat Ahmed Khan

D. Asad Ali Khan

Ans. B.

Sol. Vishnu Govind Jog, better known as
V. G. Jog was an Indian violinist. He was
the foremost exponent of the violin in
the Hindustani music tradition in the
20th century, and is credited for
introducing this instrument into
Hindustani music. He received the
Padma Bhushan award in 1982.

3. Who among the following was a
person of Indian origin and also was a
recipient of the Nobel Prize for Physics?
A. Jagdish Chandra Bose

B. Srinivasa Ramanujan

C. Satyendra Nath Bose

D. Subrahmanyan Chandrasekhar

Ans. D.

Sol. Subrahmanyan Chandrasekhar was
an Indian Americanastrophysicist who
spent his professional life in the United
States. He was awarded the 1983 Nobel
Prize for Physics with William A. Fowler
for "...theoretical studies of the physical
processes of importance to the structure
and evolution of the stars". His
mathematical treatment of stellar
evolution yielded many of the best
current theoretical models of the later
evolutionary stages of massive stars and
black holes. The Chandrasekhar limit is
named after him.
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4. The bile is released into which part of
the alimentary canal?

A. stomach B. duodenum
C. jejunum D. ileum
Ans. B.

Sol. The duodenum is the first and
shortest segment of the small intestine.
It receives partially digested food
(known as chyme) from the stomach
and plays a vital role in the chemical
digestion of chyme in preparation for
absorption in the small intestine. Many
chemical secretions from the pancreas,
liver and gallbladder mix with the chyme
in the duodenum to facilitate chemical
digestion.

5. Which of the following is true?

A. Amphibians have a 3-chambered
heart with two atria and a single
ventricle.

B. Fishes have a 3-chambered heart with
two atria and a single ventricle.

C. Amphibians have a 3-chambered
heart with a single atria and two
ventricles.

D. Fishes have a 3-chambered heart
with a single atria and two ventricles.
Ans. B.

Sol. The frog heart has 3 chambers: two
atria and a single ventricle. The atrium
receives deoxygenated blood from the
blood vessels (veins) that drain the
various organs of the body. The left
atrium receives oxygenated blood from
the lungs and skin (which also serves as
a gas exchange organ in most
amphibians).

6. Which of the following is a
macronutrient for a plant?

A. hydrogen B. manganese
C. copper D. zinc
Ans. A.

Sol. Macronutrients are essential
elements used in large quantities by
plants. When essential elements are
used in smaller amounts, they are called
micronutrients. Macronutrients include
carbon, hydrogen, nitrogen, oxygen,
phosphorous, potassium, calcium, sulfur,
and magnesium.

7. If the external solution balances the
osmotic pressure of the cytoplasm, it is
said to be

A. isotonic B. hypotonic
C. hypertonic D. platonic
Ans. A.
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Sol. When the cell is placed in an
isotonic solution. There is no flow of.
Water towards the inside or outside.
If the external solution balances the
osmotic pressure of the cytoplasm, it
is said to be isotonic.

8. Consider the following pairs:

Name : Formula

1] Butan-1-ol : CH30C:zHs

2] Chloroethene : CHz = CHCI

3] 1-Fluoropropane : CH3CH2CH2F

4] Ethoxyethane : CH3z - CH2 - CH - CH
- OH

Which of the above pairs are correctly
matched?

A. 1 and 3 only
C. 2 and 3 only
Ans. C.

Sol. Butan-1-ol : C4H100

2] Chloroethene : CH2 = CHCI

3] 1-Fluoropropane : CH3CH2CH2F

4] Ethoxyethane : (C2H5)20

9. Which of the following formulas is
correct?

A. Molarity = Moles of solute / Volume of
solution in millilitres

B. Molarity = Moles of solute / Volume of
solution in litre

C. Molarity = Mass of solute in grams /
Volume of solution in litres

D. Molarity = Mass of solute in grams /
Volume of solution in millilitres

Ans. B.

Sol. Molarity (M) is defined as the
number of moles of solute (n) divided by
the volume (V) of the solution in liters.
It is important to note that the morality
is defined as moles of solute per liter of
solution, not moles of solute per liter of
solvent.

10. Finely divided is used
as catalyst in Haber's process in
manufacture of ammonia.

B. 2, 3 and 4 only
D. 3 and 4 only

A. platinum B. vanadium
C. zinc D. iron
Ans. D.

Sol. The Haber Process combines
nitrogen from the air with hydrogen
derived mainly from natural gas
(methane) into ammonia. The reaction is
reversible and the production of
ammonia is exothermic. The catalyst is
actually slightly more complicated than
pure iron.

11. The general electronic configuration
ns2np2 belongs to which group elements
of the periodic table?
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A. Group 17 B. Group 13
C. Group 14 D. Group 11
Ans. C.
Sol.

The general electronic configuration
NS2NP2 belongs to Group 14 elements
of the periodic table. The carbon family,
Group 14 in the p-block, contains carbon
(©), silicon (Si), germanium (Ge), tin
(Sn), lead (Pb), and flerovium (Fl). Each
of these elements has only two electrons
in its outermost p orbital: each has the
electron configuration ns?np?.

12. The tags along with
its associated tags and attributes is used
in two ways; to separate different blocks
of content and to present content in the
form of tables.

A. <table></table>

B. <body></body>

C. <text></text>

D. <name></name>

Ans. A.

Sol. The HTML tables allow web authors
to arrange data like text, images, links,
other tables, etc. into rows and columns
of cells. The HTML tables are created
using the <table> tag in which the <tr>
tag is used to create table rows and
<td> tag is used to create data cells.
The elements under <td> are regular
and left aligned by default.

13. Which of the following is included in
Paragraph Formatting in a word
processor?

A. subscript B. font

C. underline colour D. line spacing
Ans. D.

Sol. As well as formatting characters, we
can also use paragraph formatting to
change the appearance of a document.
Paragraph formatting changes happen
from one paragraph mark to another
paragraph mark . Centering, line
spacing, paragraph spacing, indents and
tabs are paragraph formats. When
changing the appearance of one
paragraph just place the cursor
anywhere in the paragraph. If you want
to change the appearance of more than
one paragraph, you must select the
number of paragraphs that you want to
change.

14. Which festival is celebrated on the
full moon of the Phalgun month?

A. Raksha Bandhan

B. Vat Purnima
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C. Navratri

D. Holi

Ans. D.

Sol. Holi is celebrated at the end of the
winter season on the last full moon day
of the lunar month Phalguna (Phalguna
Purnima), which usually falls in the later
part of February or March. The Hindu
festival of Shigmo is also celebrated in
Goa and Konkan in the month of
Phalguna.

15. On 5th April 2016, which Indian
state imposed ban on the sale and
consumption of liquor?

A. Bihar

B. Rajasthan

C. Maharashtra

D. Himachal Pradesh

Ans. A.

Sol. The Bihar government had banned
the sale and consumption of the country
and spiced liquor in rural areas from
April 1 this year, but had allowed the
sale of foreign liquor in towns and cities.
16. Who formulated the classical theory
of electromagnetic radiation?

A. James Clerk Maxwell

B. Edmund Becquerel

C. Dmitri Mendeleev

D. Joseph Priestley

Ans. A.

Sol. James Clerk Maxwell FRS FRSE was
a Scottish scientist in the field of
mathematical physics. His most notable
achievement was to formulate the
classical theory of electromagnetic
radiation, bringing together for the first
time, electricity, magnetism, and light as
different manifestations of the same
phenomenon. Maxwell's equations for
electromagnetism have been called the
"second great unification in physics after
the first one realised by Isaac Newton.
17. Which of the following is true?

A. Imposition of price floor above the
equilibrium price leads to an excess
supply.

B. Imposition of price floor below the
equilibrium price leads to an excess
supply.

C. Imposition of price floor above the
equilibrium price leads to an excess
demand.

D. Imposition of price floor below the
equilibrium price leads to an excess
demand.

Ans. A.
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Sol. As a result, they increase
production. Taken together, these
effects mean there is now an excess
supply (known as a "surplus") of the
product in the market to maintain the
price floor over the long term. The
equilibrium price is determined when the
quantity demanded is equal to the
quantity supplied.

18. Which of the following is true?

A. The imposition of a unit tax shifts the
demand curve of a firm to the left

B. The imposition of a unit tax shifts the
supply curve of a firm to the right

C. The imposition of a unit tax shifts the
supply curve of a firm to the left

D. The imposition of a unit tax shifts the
demand curve of a firm to the right

Ans. C.

Sol. A unit tax may be defined as the tax
imposed by the government on per unit
sale of output. The imposing of a unit
tax shifts the marginal cost curve of the
firm upward affect in supply curve will
shift to the left.

19. If price of an article increases from
Rs 200 to Rs 240, when quantity
demanded decreases from 1,000 units to
800 units. Find point elasticity of
demand?

A. -1 B.1
C. 0.8 D. -0.8
Ans. A.

Sol. P = Rs 200, P1 = Rs 240

TE = Rs 1,000, TE:1 = Rs 800

The elasticity of demand is less than one
or commodity has inelastic demand
because in response to increase in price,
total expenditure has also risen even
when the quantity demanded decreases.
Price elasticity of demand formula. The
formula used to calculate the price
elasticity of demand is: The symbol n
represents the price elasticity of
demand. The symbol Qo represents the
initial quantity demanded that exists
when the price equals Po.

20. Gross fiscal deficit (from the
financing side) is equal to

A. Net borrowing at home - Borrowing
from RBI + Borrowing from abroad

B. Net borrowing at home + Borrowing
from RBI - Borrowing from abroad

C. Net borrowing at home - Borrowing
from RBI - Borrowing from abroad

D. Net borrowing at home + Borrowing
from RBI + Borrowing from abroad
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Ans. D.
Sol. The gross fiscal deficit (GFD) is the
excess of total expenditure, including
loans net of recovery over revenue
receipts (including external grants) and
non-debt capital receipts. The net fiscal
deficit is the gross fiscal deficit less net
lending of the Central government.
Fiscal Deficit Gross Fiscal Deficit is
defined as the excess of total
expenditure of the government over the
total non-debt creating receipts. Fiscal
deficit can be either ‘gross’ or ‘net’. The
Central government makes capital
disbursements as loans to the different
segments of the economy. In the
developing countries, a large part goes
as loans to other sectors-States and
local Governments, public sector
enterprises and the like. The Net fiscal
deficit can be arrived at by deducting net
domestic lending from gross fiscal
deficit.

21. Gross National Product is equal to

A. Net National Product at market prices
- (Indirect taxes - Subsidies)

B. Net National Product at market prices
- Net indirect taxes

C. Personal Income - Personal tax
payments — Non-tax payments

D. Gross Domestic Product + Net factor
income from abroad

Ans. D.

Sol. GNP is an economic statistic that is
equal to GDP plus any income earned by
residents from overseas investments
minus income earned within the
domestic economy by overseas
residents.

22. Earth’s surface re-emits heat in the
form of .
A. Ultraviolet rays
C. gamma rays
Ans. B.

Sol. Energy from the sun is shown on
the left where you see that part of the
radiant energy from the sun passes
through the atmosphere, is absorbed,
and warms the Earth's surface.This
ability to absorb and re-emit infrared
radiation is the critical requirement for
greenhouse gases.

23. Chlorofluorocarbons which degrade
ozone layer are used as which of the
following?

A. antifreeze
C. refrigerants

B. infrared radiation
D. radio waves

B. antioxidant
D. reducing agent
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Ans. C.

Sol. Chlorofluorocarbons (CFCs) have
been found to cause the depletion of the
ozone layer. The ozone layer prevents
ultraviolet radiations of the sun from
coming on the earth. This article
describes the process of the damaging
effects of CFCs. Chlorofluorocarbons
(CFCs) have been used extensively in
the last five or six decades as
refrigerants in the vapor compression
cycle to produce refrigerating and air-
conditioning effects. In recent years, it
has been found that CFCs are more
destructive to the environment. It has
been proved that CFCs are a major
cause of depletion of the earth’s
stratospheric ozone layer and contribute
to the greenhouse effect (global
warming).

24. Which of the following statements
regarding Atmospheric Circulation and
Weather Systems is false?

A. The Coriolis force acts perpendicular
to the pressure gradient force.

B. The wind circulation around a low is
called cyclonic circulation.

C. Near the equator the sea level
pressure is low.

D. The Coriolis force is inversely
proportional to the angle of latitude.
Ans. D.

Sol. The Coriolis force is directly
proportional to the angle of latitude. It is
maximum at the poles and is absent at
the equator. The deflection is strongest
at the poles and is zero at the equator.
The result of the Coriolis effect is that
objects set in motion travel along a
curve as seen on the spinning Earth.

25. What percent of carbon is found
dissolved in oceans?
A. 51 per cent

C. 11 per cent

Ans. D.

Sol. Carbon dioxide from the
atmosphere dissolves in the surface
waters of the ocean. Some of the carbon
dioxide stays as dissolved gas, but much
of it gets turned into other things.
Photosynthesis by tiny marine plants
(phytoplankton) in the sunlit surface
waters turns the carbon into organic
matter. The ocean plays an important
part in the carbon cycle. Overall, the
ocean is called a carbon ‘sink’ because it
takes up more carbon from the

B. 31 per cent
D. 71 per cent


http://www.gradeup.com/
http://www.brighthubengineering.com/hvac/855-what-is-refrigeration/
http://www.brighthubengineering.com/hvac/857-how-air-conditioning-works/
http://www.brighthubengineering.com/hvac/857-how-air-conditioning-works/

WWWw.gradeup.co

atmosphere than it gives up. Carbon
dioxide from the atmosphere dissolves in
the surface waters of the ocean.

26. Which of the following is the
founder/co-founder of "Snapdeal"?

A. Kunal Bahl

B. Vijay Shekhar Sharma

C. Binny Bansal

D. Ritesh Agarwal

Ans. A.

Sol. Snapdeal is an Indian e-commerce
company based in New Delhi, India. The
company was started by Kunal Bahl and
Rohit Bansal in February 2010. As of
2014 Snapdeal had 300,000 sellers, over
30 million products across 800+ diverse
categories from over 125,000 regional,
national, and international brands and
retailers and a reach of 6,000 towns and
cities across the country.

27. With reference to the interior of the
earth consider the following statements.
1] The earth's core is made up of very
heavy material.

2] The mantle extends from Moho's
discontinuity to a depth of 2,900 km.

3] The material in the upper mantle
portion is called magma.

Which of the statements given above is /
are correct?

A. 1 and 2 only
C.1,2and 3
Ans. C.

Sol. The Earth can be divided into one of
two ways - mechanically or chemically.
Mechanically — or rheologically, meaning
the study of liquid states - it can be
divided into the lithosphere,
asthenosphere, mesospheric mantle,
outer core, and the inner core. But
chemically, which is the more popular of
the two, it can be divided into the crust,
the mantle (which can be subdivided
into the upper and lower mantle), and
the core - which can also be subdivided
into the outer core, and inner core.

28. is also known as
soil moisture drought. Low soil moisture
results in crop failures.

A. Meteorological Drought

B. Agricultural Drought

C. Hydrological Drought

D. Ecological Drought

Ans. B.

Sol. Agricultural drought refers to
circumstances when soil moisture is
insufficient and results in the lack of

B. 2 and 3 only
D. 3 only
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crop growth and production. It primarily
concerns itself with short-term drought
situations.

29. Granite is what type of rock?

A. Metamorphic B. Sedimentary

C. Igneous D. Halite

Ans. C.

Sol. Granite is a light-colored igneous
rock with grains large enough to be
visible with the unaided eye. It forms
from the slow crystallization of magma
below Earth's surface. Granite is
composed mainly of quartz and feldspar
with minor amounts of mica,amphiboles,
and other minerals.

30. consists of silica.

A. Feldspar B. Mica

C. Quartz D. Amphibole
Ans. C.

Sol. Quartz is a mineral composed of
silicon and oxygen atoms in a continuous
framework of SiO4 silicon-oxygen
tetrahedra, with each oxygen being
shared between two tetrahedra, giving
an overall chemical formula of SiOa.
Quartz is the second most abundant
mineralin Earth's continental crust,
behind feldspar.

31. Which of the following crops is
suitable for wetland farming?

A. rice B. ragi

C. bajra D. moong
Ans. A.

Sol.

wetlands have been drained to convert
them into agricultural land or industrial
and urban areas. Among all the crops,
rice is suitable for wetland farming.

32. With reference to India's freedom
struggle consider the following
statements:

1] In March 1940, the Muslim League
passed a resolution committing itself to
the creation of a separate nation called
"Pakistan".

2] The "Salt Satyagraha" campaign
began in August 1942.

3] Jayaprakash Narayan was a socialist
member of the Congress and was active
in the underground resistance during
Quit India Movement.

Which of the statements given above is /
are correct?

A. 1 and 2 only
C. 1 and 3 only
Ans. C.

Sol.

B. 2 and 3 only
D. 3 only
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The correct statements are:

In March 1940, the Muslim League
passed a resolution committing itself to
the creation of a separate nation called
"Pakistan".

The "Salt Satyagraha" campaign began
in 1930.

Jayaprakash Narayan was a socialist
member of the Congress and was active
in the underground resistance during
Quit India Movement.

33. The French commercial companies
set up their base in India at

in 1673.
A. Goa B. Pondicherry
C. Bombay D. Calcutta
Ans. B.
Sol.

The French commercial companies set
up their base in India at Pondicherry. In
1673, the French acquired the area of
Pondicherry from the giladar of
Valikondapuram under the Sultan of
Bijapur, and thus the foundation of
Pondichéry was laid. By 1720, the
French had lost their factories at Surat,
Masulipatam and Bantam to the British
East India Company.

34. Which of the following persons was
associated with the American War of
Independence?

A. Abraham Lincoln

B. Franklin D. Roosevelt

C. Dwight D. Eisenhower

D. George Washington

Ans. D.

Sol.

George Washington was associated with
the American War of Independence. He
served as the first President of the
United States from 1789 to 1797 and
was one of the Founding Fathers of the
United States. He served as
Commander-in-Chief of the Continental
Army during the American Revolutionary
War, and later presided over the 1787
convention that drafted the United
States Constitution. He also known as
the Father of the Country.

35. The traveller al-Biruni who visited
India in the tenth and eleventh centuries
was from which country?

A. Uzbekistan B. Italy
C. Portugal D. France
Ans. A.

Sol.
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Al-Biruni is regarded as one of the
greatest scholars of the medieval Islamic
era and was well versed in physics,
mathematics, astronomy, and natural
sciences, and also distinguished himself
as a historian, chronologist and linguist
from the region of Uzbekistan.

36. Name the Chinese pilgrim to India
who came in search of Buddhists texts?

A. Fa-Hien B. Xuan Zang

C. Fa-tsing D. Wang Dayuan
Ans. B.

Sol.

Xuan Zang the Chinese pilgrim to India
who came in search of Buddhists texts in
the sixth century and described the
interaction between Chinese Buddism
and Indian Buddism during the early
Tang dynasty.

37. Bifocal Lens was invented by which
scientist?

A. Benjamin Franklin

B. Edmond Becquerel

C. Dmitri Mendeleev

D. Joseph Priestley

Ans. A.

Sol.

Benjamin Franklin is known for the
biofocals, lightning rod and the Franklin
stove. He acilitated many civic
organizations, including Philadelphia's
fire department and the University of
Pennsylvania, an Ivy League institution.
Bifocals are eyeglasses with two distinct
optical powers. Original bifocals were
designed with the most convex lenses in
the lower half of the frame and the least
convex lenses on the upper.

38. Consider the following pairs:

Object : Mass (in Kg)

1] Proton : 10°%7

2] Rain Drop : 10

3] Automobile : 107

4] Sun : 1030

Which of the above pairs are correctly
matched?

A. 1 and 4 only

C. 3 and 4 only
Ans. B.

Sol.

* Proton : 10°%

e Rain Drop : 10°
e Automobile: 2000
e Sun : 1030

39. Which scientist pioneered the
investigation of Ultra short radio waves?
A. Christiaan Huygens

B. 1,2 and 4 only
D. 2 and 3 only
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B. Isaac Newton

C. J.C. Bose

D. J.J. Thomson

Ans. C.

Sol.

Jagadish Chandra Bose pioneered the
investigation of Ultra short radio and
microwave optics. Shortwave radio is
radio transmission using shortwave radio
frequencies 1.6-30 MHz (187.4-10.0
m). J.C. Bose was a polymath, physicist,
biologist, biophysicist, botanist and
archaeologist. A crater on the moon has
been named in his honour.

40. Which of the following
electromagnetic waves can be detected
using thermopiles?
A. Ultraviolet rays
C. Microwaves
Ans. B.

Sol.

Infrared electromagnetic waves can be
detected using thermopiles. A
thermopile is an electronic device that
converts thermal energy into electronic
energy. It is composed of several
thermocouples.

41. Which of the following relation
between capacitance C, charge Q and
potential V is true?

B. Infra-red waves
D. Radio waves

A.V =CQ B.Q =CV
C.C=VvQ D. C =V?%¥/Q
Ans. B.

Sol.

Q = Constant*V. This constant is called
the capacitance,C, of the capacitor and
this is measured in Farads (F). So
capacitance is charge stored per volt,
and farads= coulombs/volts.

42. The Power of Judicial Review and
independence of the judiciary principle of
the Indian Constitution is borrowed from

the constitution.

A. British B. Irish

C. Canadian D. United States
Ans. D.

Sol.

The Power of Judicial Review and
independence of the judiciary principle of
the Indian Constitution is borrowed from
the United States constitution. The
features taken from the United Nations
Constitution.

e Impeachment of the President

e Functions of President and Vice-
president
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e Removal of Supreme Court and High
Court judges

e Fudamental rights

e Judicial review

e Independence of Judiciary

e Preamble of the Constitution

43. To ensure a fair trial in courts the
Indian Constitution has provided 3
rights. Which of the following is not one
of those 3 rights?

A. no person would be punished for the
same offence more than once

B. no person born in India will be tried
under foreign laws

C. no law shall declare any action as
illegal from a backdate

D. no person shall be asked to give
evidence against himself or herself.
Ans. D.

Sol.

To ensure a fair trial in courts the Indian
Constitution has provided three rights.
The concept of fair trial is based on the
basic ideology that State and its
agencies have the duty to bring the
offenders before the law.

e No person would be punished for the
same offence more than once

e No person born in India will be tried
under foreign laws

e No law shall declare any action as
illegal from a backdate

44. All of the following are powers of the
Rajya Sabha, except one. Select the
wrong option.

A. Can give the Union parliament power
to make laws on matters included in the
State list

B. Approves the Proclamation of
emergency.

C. Considers and approves non money
bills and suggests amendments to
money bills

D. Exercises control over executive by
asking questions, introducing motions
and resolutions

Ans. B.

Sol.

Powers of Raja Sabha:

e In the sphere of ordinary law-making
the Rajya Sabha enjoys equal powers
with the Lok Sabha.

e The Union Council of Ministers is
collectively responsible before the Lok
Sabha and not the Rajya Sabha.

e A money bill cannot be introduced in
the Rajya Sabha.
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e Rajya Sabha and Lok Sabha can
together amend the constitution by
passing an amendment bill with 2/3
majority in each House.

e The elected members of the Rajya
Sabha along with the elected members
of the Lok Sabha and all the State
Legislative Assemblies together elect the
President of India.

e Exercises control over executive by
asking questions, introducing motions
and resolutions

45. All of the following subjects are part
of the State List, except

A. Land B. Airways
C. Liquor D. Police
Ans. B.

Sol.

Airways aircraft and air navigation;
provision of aerodromes; regulation and
organisation of air traffic, and of
aerodromes; provision for aeronautical
education and training and regulation of
such education and training provided by
States and other agencies are comes
under the Union list. Union List is a list
of 100 items given in the seventh
schedule in Indian constitution.

46. A dispute between two states comes
to the Supreme Court under which
jurisdiction?

A. Appellate B. Advisory
C. Special D. Original
Ans. D.

Sol. A dispute between two states comes
to the Supreme Court under original
jurisdiction. The Supreme Court has
original, appellate and advisory
jurisdiction. Article 32 of the Constitution
gives an extensive original jurisdiction to
the Supreme Court in regard to
enforcement of Fundamental Rights.

47. Which of the following is an Indian
professional Tennis player?

A. Leander Paes B. PV Sindhu

C. Prakash PadukoneD. Saina Nehwal
Ans. A.

Sol.
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Leander Adrain Paes is an Indian
professional tennis player. He is one of
the best doubles and mixed doubles
players of all time. He achieved a career
Grand Slam in each discipline. He is a
right handed (one handed backhand)
player.

48. Who wrote the novel "The Serpent
and the Rope"?
A. Amitav Ghosh
C. Raja Rao
Ans. C.

Sol.

The Serpent and the Rope is the novel
written by the Raja Rao. It was first
published in 1960 by John Murray. This
novel won the Sahitya Akademi Award in
1964.

49. Which of the following is true about
chordates?

A. Gill slits are absent

B. Notochord is absent

C. Post-anal tail is absent

D. Heart is ventral

Ans. D.

Sol.

The Chordates have a ventral heart.
Ventral is the underside of an organism
or an organ. The abdomen and/or belly
is usually located at the ventral side of
an organism, and many important
organs and organ systems are found in
this region of the body.

50. In an earthworm the 14-16
segments are covered by a prominent
dark band of glandular tissue called

B. R. K. Narayan
D. Vikram Seth

A. clitellum

B. prostomium
C. metamere D. setae
Ans. A,
Sol.

In an earthworm the 14-16 segments
are covered by a prominent dark band of
glandular tissue called clitellum. It is a
thickened glandular and non-segmented
section of the body wall in the leeches
and earthworms. It secretes a viscid sac
in which the eggs are deposited.
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